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(Construction of Eco-bridge)
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ng = 40 m

wz 40| 10 m FH5L 9.8 m/sech2

AR =2 ukh) St $2 y+d Ho(dldgmd)

ZBIRE 025 m o ex & 025 m = 8m 6-150-SBL

2 0.01 m 2 0.07 m ol 8m =3 15 kW

2 20| 20 m 2o 16 m pak ) 6.5 m

o +5 02 m ERE 112 m Exg 10 m#3/min
iR 2 EA

7ISH Qlamel 2o & 10.226 m~3

g o 64 mA2

d+d =0 0.160 m

Az o 1.980 m/s

118.794 m/min
ARz EET 23.325 mA3/min
ZCf 2 HEEET 24 mA3/min

750-SBH

foa 22 z= BoH csa e e
=7 gmm Ckw) (m) (m/min) R.P.M (weight)

6-110-SB 6 7 1200 360
6-150-SB 15 5 7 1200 380
220-SBL 22 11.5 7 1200 480
300-SBH 30 13 7 1800 510
370-SBH 250 37 19 7 1800 720
4-370-SBL 22 7 1800 720
450-SBH 26 6 750
550-SBH 30 7 780
4-750-SB 40 7 880

[ 6-150-sBL 6.5 10 s00 )
6-220-SBL 5 10 510
300-SBM 10 10.5 550
370-SBM 300 15 10 800
6-450-SB 18 10 870
6-550-SB 21 10 930
31 10 1070




